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1) TRADE THEORY
Question No. 1/ Question ID 370 Marks: 2.00
Where the recording instrument is used?
RIS IUBRUI HT ITANT Hg! foram Srar 82

(A) O To register the quantity (Correct Alternative)
T &of e & ﬁ'E (Correct Alternative)

(B) O To measure the quantity
AT A0 & oy

(C) O To indicate the quantity (Chosen Option)
T SR1d ®H & T (Chosen Option)

(D) O To display the quantity

T USRI B4 & g

Question No. 2 / Question ID 33 Marks: 2.00
What is the unit of insulation resistance?
YA UTRIY P T8 FT 82
(A) O Kilo ohm

Kilo ohm
(B) O Mega ohm (Correct Alternative)
Mega ohm (Correct Alternative)
(C) O Milliohm
Milli ohm
(D) © Ohm (Chosen Option)
Ohm (Chosen Option)

Question No. 3 / Question ID 337 Marks: 2.00
Which is proportional for the deflection of ohmmeter needle in earth resistance tester?
gt UfoRTY TRied § Siigriiex g & a8y e Sirgutfae g2
(A) O Currentin current coll

YR Hecl H YRT
(B) O Speed of the handle rotation
GESEURKARIG]
(C) O Ratio of the current in two coils (Correct Alternative) (Chosen Option)
ﬁﬁl’iﬁ H 4R BT S[JUTd (Correct Alternative) (Chosen Option)
(D) O Current in potential coil
faya el 4 urT

Question No. 4 / Question ID 303 Marks: 2.00
Which instrument is used to test the insulation of new domestic wiring installation?
T TR TR ZETARM &b S BT TRIE0 B & foIE fordy IUHRU1 1 IUART faram SIram 82
(A) O Megger (Correct Alternative)
(Correct Alternative)




(B) O Shunt type ohmmeter (Chosen Option)
¢ UHR 3 HIeR (Chosen Option) www.globaliti.org
(C) O Multimeter

(D) O Series type ohmmeter
U YR 3 HIR

Question No. 5/ Question ID 398 Marks: 2.00
Calculate the heat generated in a electric heater of 1000 watt, 240 volt, worked for 5 minutes.
1000 dTc, 240 dlec & fAgyd giex H I@d Tl &I TTUHT &3, giex A 5 fiFe & forw & fwar?
(A) O 71.6 Kilo calories (Correct Alternative)
71.6 Kilo calories (Correct Alternative)
(B) O 70.5 Kilo calories (Chosen Option)
70.5 Kilo calories (Chosen Option)
(C) O 71.0 Kilo calories
71.0 Kilo calories

(D) O 72.1 Kilo calories
72.1 Kilo calories

Question No. 6 / Question ID 101 Marks: 2.00
Which electrical quantity is directly proportional to the eddy current?
o It fagyga IR HaR yrT & e gt 37
(A) O Frequency (Correct Alternative)

(Correct Alternative)
(B) O Voltage (Chosen Option)
(Chosen Option)
(C) O Current
P
(D) O Resistance
gfeRYy

Question No. 7 / Question ID 288 Marks: 2.00
Which classification of accessory the ceiling rose is classified?

e IS 1 Wl & ford aEife<or | aFfied farar T 872

(A) O Holding accessories

(B) O General accessories (Correct Alternative)
I 9RER (Correct Alternative)

(C) O Safety accessories (Chosen Option)
R YT (Chosen Option)

(D) O Outlet accessories

Question No. 8 / Question ID 195 Marks: 2.00
When the neutral current is zero in 3 phase system?
3 Tl JUTTel § ged e Y 6 il 87
(A) O Unbalanced star system
3&ferd R et
(B) O 3 phase domestic load (Chosen Option)
3 Tl Eﬁﬂ?ﬁ@' (Chosen Option)




(C) O 3 phase commercial load
3 Thol YIS A www.globaliti.org

(D) O Balanced star system (Correct Alternative)

ﬂ—g[m TR WUITet (Correct Alternative)

Question No. 9 / Question ID 240 Marks: 2.00

How many two way switches alongwith intermediate switch are used to control one lamp from three
different places?

Qaﬁé%ua?r?ﬂq SITT-SERT VI ¥ A B & o foram iRt Raa aur Aerad! faa &1 Judi fean
WITdl 87
(A) O 2 (Correct Alternative) (Chosen Option)

2 (Correct Alternative) (Chosen Option)

(B) O
(C)O
(D) O

. Www AN

Question No. 10 / Question ID 217 Marks: 2.00
Which is used as a positive electrode in a dry cell?

[ Jd H YTHS JaaeIs &b U H 1 TN gl 82
(A) O Zinc

ST
(B) O Lithium

ferfras
(C) O Carbon (Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

(D) © Copper

GIEL

Question No. 11 / Question ID 282 Marks: 2.00
What is the purpose of underwriter’s knot for pendent holder connection?
USe BIeR JUIoH & foU 3eRIZeR B TS BT I T 872
(A) O Reduce the strain from the terminals of accessories (Correct Alternative)
I & cfial J 919 HH B (Correct Alternative)
(B) O Avoid loose connections
GEERIEEIREEIC]
(C) O Prevent excessive cap cover pressure
AP BHYU HR Ga1d BI AT

(D) O Increase mechanical strength (Chosen Option)

TiF® Afad o q@ (Chosen Option)

Question No. 12 / Question ID 91 Marks: 2.00
What is the unit of Reluctance?
R Bl SHIS T 32
(A) O Ampere turns / metre?
Ampere turns / metre?

(B) O Weber / metre (Chosen Option)
Weber / metre (Chosen Option)




(C) O Weber / metre?
Weber / metre?

(D) O Ampere turns / Weber (Correct Alternative)
Ampere turns / Weber (Correct Alternative)

www.globaliti.org

Question No. 13 / Question ID 68 Marks: 2.00
What is the value of current (1) flowing through the circuit?
gfkgy & garfed URT (1) BT HTH T 82
(A) O 3A
3A
(B) O 2 A (Correct Alternative)
2 A (Correct Alternative)
(C) O 6A(Chosen Option)
6 A (Chosen Option)
D)o 1A
1A
Question No. 14 / Question ID 169 Marks: 2.00

What is the formula to calculate the resonance frequency?

gfaea gy &1 TUHT SR &1 I3 &1 82




www.globaliti.org

(B) O 1

(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

Question No. 15/ Question ID 210 Marks: 2.00
Which apparatus is used to check the charging condition of the battery?

St B ATt U Bt ST H3 & QT8 forg IUSRUT ST IUANT faa il 672
(A) O Voltmeter

(B) O Hydrometer

(C) O Multimeter

(D) O High rate discharge tester (Correct Alternative)
I &3 FARTaRM ewer (Correct Alternative)

Question No. 16 / Question ID 22 Marks: 2.00
Which artificial respiration method is to be performed to the victim with injuries on the chest and belly?

BTt 3R U W dlc @ R WIS 1 $HH 499 St S 9t Al o= St =nfge?
(A) O Schafer’s method
UHR fafy

(B) O Holger - Nelson’s back pressure method
BIR-Aed $1 U3 Gara fafy

(C) O Mouth to mouth method (Correct Alternative)
g | g fafer (Correct Alternative)

(D) O Nelson’s arm-lift back pressure method (Chosen Option)

o1 3H-forde 9 U=R fAf¥ (Chosen Option)

Question No. 17 / Question ID 287 Marks: 2.00




What is the purpose of the fuse cut out provided at the incoming power supply?

3T forsTeft Smfel & UM fu 7T Wl dhe & 5= 1872

(A) O To maintain the stabilised supply voltage (Chosen Option)
RR HTCL% dlecs ST XEH & ol (Chosen Option)

(B) O To protect the human beings from electric shock

difeh ST B fooiell & STedh J Fa/™ ol 9

(C) O To ensure the line is not over loaded (Correct Alternative)

e '\ﬂﬁﬁﬁ[ PP f%fl'{ & GIER SfAUR :I—bpf% (Correct Alternative)

(D) O To protect the circuit from the leakage current

gfdhe &l dibsl pic T 9 & forw

www.globaliti.org

Question No. 18 / Question ID 145

What will be the change in value of capacitance if the distance of the plates are decreased in the

capacitor?
gfe G T wicl 1 gl HH B &1 ST ol YIRdT o |14 H o1 IRac g
(A) O Decreases
S g
(B) O Remains same
LEIERE
(C) O Increases (Correct Alternative) (Chosen Option)
TSI%TIT (Correct Alternative) (Chosen Option)
(D) ©O Becomes zero

[ B SR

Marks: 2.00

Question No. 19 / Question ID 354

Which electrlcal effect that the single phase analog energy meter works?
R e T SHott Hie 6 faggd TuTa IR H1H Bl 872
(A) O Electrostatic effect (Chosen Option)

R ﬁ?ﬂﬁ YHId (Chosen Option)
(B) O Induction effect (Correct Alternative)

YHId (Correct Alternative)
(C) O Heating effect
UYig

(D) O Chemical effect
IS g

Marks: 2.00

Question No. 20 / Question ID 244
What is the name of the symbol as shown in the figure ?

for 7 fEaTU SR Weiies &1 A1 1 52

A4 N

(A) O Bell push switch
9 21 g
(B) O Multi position switch single pole (Correct Alternative)

d9g fRufa wwa Yd &9 (Correct Alternative)

Marks: 2.00




(C) O Two way switch (Chosen Option)

¢ 9 f&d9 (Chosen Option) www.globaliti.org
(D) O One way switch two poles
&l yd 99 4 Rag
Question No. 21 / Question ID 117 Marks: 2.00

Calculate the total capacitance value in the circuit.

gihe # pd HURICH HH &I TUFT B

(A) O 0.16 pF
0.16 uF
(B) O 6 pF (Correct Alternative) (Chosen Option)
6 UF (Correct Alternative) (Chosen Option)
(C)O 70k
70 uF

(D) O 30 uF
30 uF

Question No. 22 / Question ID 317 Marks: 2.00
What is the S.I unit of luminous intensity?
I BT SI SHTS FT 82
(A) O Lumen (Chosen Option)
Lumen (Chosen Option)

(B) O Lux
Lux




(C) O Candela (Correct Alternative)

Candela (Correct Alternative) www.globaliti.org
(D) O Steradian
Steradian
Question No. 23 / Question ID 201 Marks: 2.00

What is the value of line current if phase current is 20 Amp in star connection?
g R H-aRA H Bl HRe 20 TARR § Al A8 B DI A 1 572
(A) O 17.3 A(Chosen Option)

17.3 A (Chosen Option)

(B) O 11.56A
11.56 A
(C) O 20 A (Correct Alternative)
20 A (Correct Alternative)
(D)O 10A
10A

Question No. 24 / Question ID 316 Marks: 2.00
Why the system earthing is different from the equipment earthing?
R sifdf, JuamRor Siftfn & oremt &t 82
(A) O Itis associated with non-current carrying conductors
g IR-YRT YaIed HA d1d Hede’] A JT 7
(B) O It protects human only
g Had IS P I8/ BT §
(C) O It protects equipment only
I8 P IUDUIT B FR&T Bl &
(D) O Itis associated with current carrying conductors (Correct Alternative) (Chosen Option)

g YRT ATeP TP | Graied % (Correct Alternative) (Chosen Option)

Question No. 25 / Question ID 49 Marks: 2.00
What is the formula for the Quantity of electricity (Q)?
fagyd @t AT (Q) 1 T 1 72
(A) O Voltage x Current
Voltage x Current
(B) O Voltage x Resistance
Voltage x Resistance
(C) O Current x Resistance (Chosen Option)
Current x Resistance (Chosen Option)

(D) O Current x Time (Correct Alternative)
Current x Time (Correct Alternative)

Question No. 26 / Question ID 203 Marks: 2.00
What is the unit of electric charge?
faqgd enaz 3t 71 5T ©72
(A) O Watt
Watt
(B) O Ampere (Chosen Option)
Ampere (Chosen Option)

(C) O Coulomb (Correct Alternative)
Coulomb (Correct Alternative)




(D) O Volt

Volt www.globaliti.org
Question No. 27 / Question ID 14 Marks: 2.00
What is the name of the hammer as shown in the figure?
o A few@Tu T4 g1 &7 AW 1 82

et
et

(A) O Ball pein hammer
I U 8T
(B) O Claw hammer (Correct Alternative) (Chosen Option)
WT%’HT (Correct Alternative) (Chosen Option)
(C) O Cross pein hammer
g UF 3R
(D) O Straight pein hammer
we dH g

Question No. 28 / Question ID 404 Marks: 2.00
What is the relationship between the primary voltage (E4, V4) and secondary voltage (E,, V5) in a ideal
transformer?

T 3MTeR| CBIR | TIYHS dieest (B4, V4) 3R fgdiae® dieed (E,, V,) & St 1 HaY 52

4

¥y

[
|
|

| ELtE3022

¥y

[
|
|

| EL1gR022

(A) O E4>V4andE, >V, (Chosen Option)
E4 > V4 and E; >V, (Chosen Option)
(B) O E4=Vjand E, =V, (Correct Alternative)
E4= V4 and E; =V, (Correct Alternative)
(C) O E1 < V1 and E2 < V2
E1 < V1 and E2 < V2




(D) O E1 = V2 and E2 = V1
E1 = V2 and E2 = V1 WWW.gIObaIiti.org

Question No. 29 / Question ID 196 Marks: 2.00
Which power measurement method is used for both balanced and unbalanced loads?
gford SR Srigferd gl YRT & foe &1 < =ifad A fafy &1 IuanT fasan i g2
(A) O 2 wattmeter method (Correct Alternative)
2 qreHtex fafer (Correct Alternative)
(B) O Voltmeter and Ammeter method (Chosen Option)
JreeHier 3R wHTeR fafd (Chosen Option)
(C) O Energy meter method
St Hiex fafey

(D) O Single wattmeter method
Tehd drehieR fafy

Question No. 30 / Question ID 358 Marks: 2.00
Which factor is affected due to the loading effect on measuring instruments?
7O SUHRON TR AT THIG & HRUI DI I SRS YHIId gial 572
(A) O High sensitivity

RECRICLENIY
(B) O Low influence error
&Y U Ffe
(C) O Low sensitivity (Correct Alternative) (Chosen Option)
HH Jdgeiadr (Correct Alternative) (Chosen Option)
(D) O High influence error
I UHIG e

Question No. 31 / Question ID 75 Marks: 2.00
Which law states that the applied voltage in a closed circuit, is equal to the sum of the voltage drops?
DI 1 T 91T 8 fb U dg Ufhe § ar] dlees, diecsl ST & TN & SRT6R 872
(A) O Ohm’s law (Chosen Option)

3 &1 99 (Chosen Option)
(B) O Laws of resistance
gfeRty & |
(C) O Kirchhoff’s first law
fodIts o1 Ugel o™
(D) O Kirchhoff’s second law (Correct Alternative)
fHaw &1 QT fram (Correct Alternative)

Question No. 32 / Question ID 45 Marks: 2.00
What is the unit for Quantity of electricity?
faggd &1 AT B SHh1s T 872




(A) O Mho (Chosen Option)
Mho (Chosen Option)

(B) O Coulomb (Correct Alternative)
Coulomb (Correct Alternative)

(C) O Volt/second
Volt / second

(D) O Ampere / second
Ampere / second

www.globaliti.org

Question No. 33 / Question ID 421
What is the advantage of stepped core arrangement in the larger transformers?

TS TRBIRT 7 WS HR IR BT F-T dH 82
(A) O Reduces the space for core
F U TEFAIR A S
B) O Reduces the hysteresis loss (Chosen Option)
%@h;ﬁ;r BT &I HH Bl % Chosen Option)
(C) O Minimizes the copper use (Correct Alternative)
i & SUGNT Bl HH Sl % (Correct Alternative)
(D) O Reduces the eddy current loss
TS e I B HH Il §

Marks: 2.00

Question No. 34 / Question ID 394
What is the function of the rotary switch in food mixer?
%8 e 7 et Raa &1 &rd a1 82
(A) O Over load protection (Chosen Option)
Fﬁ’s’ﬂ?&ﬂ (Chosen Option)
(B) O Over current protection
TR
(C) O Speed selection (Correct Alternative)
UG LG (Correct Alternative)
(D) O For reverse rotation

ey & fou

Marks: 2.00

Question No. 35/ Question ID 156
What is the purpose of the phase sequence meter?
ol 3IehH Hiex BT 35T T 872
(A) O To control the speed of 3 phase motor
3 Urol Hiex &t TIfd &I Fafd ava & forg
(B) O To measure the voltage of 3 phase system (Chosen Option)
3 Thol YUMTE o dleesl Pl AT & forg (Chosen Option)

(C) O To protect the motor against short circuit fault

HIeR BI TE Fldhe Y J g9 o g

(D) O To indicate the phase sequence of 3 phase system (Correct Alternative)

3 Tl WUTTEll & TR0 SJhH P 5d w1 & for (Correct Alternative)

Marks: 2.00

Question No. 36 / Question ID 105

What is the reading of the galvanometer in wheat stone bridge at balanced condition?

FleweH foe # IqeH & fufq § feafier ot Sfém g2
(A) O High deflection
3 fagyur

Marks: 2.00




(B) O Nill deflection (Correct Alternative)
3= fI&TT (Correct Alternative) www.globaliti.org
(C) O Oscillate (Chosen Option)
(Chosen Option)
(D) O Low deflection
®H faquur

Question No. 37 / Question ID 429 Marks: 2.00
Which transformer is used to measure high voltage?
I diees HIYA & AT fy SRaweR o1 SuanT fan sirar 82
(A) O Pulse transformers
e ¢
(B) O Current transformers
P ¢
(C) O Potential transformers (Correct Alternative) (Chosen Option)
fava ?;mrmﬂ? (Correct Alternative) (Chosen Option)
(D) O Ignition transformers

SRR TR

Question No. 38 / Question ID 115 Marks: 2.00
What is the change in value of resistance of the conductor, if its cross section area is doubled?

g fall TP BT SIUR BT B GRAT B 16T ST ol IP UfRIY & T & &1 GRdc g2
(A) O No change
CARRIRCRE B ]
(B) O Decreases 2 times (Correct Alternative)
2 AT 9cdr % (Correct Alternative)
(C) O Decreases 4 times (Chosen Option)
4 T[T 9edT § (Chosen Option)
(D) O Increases 2 times
2 T 9T 8

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 446 Marks: 2.00
Convert decimal 0.000659 to fraction?
0.000659 TRHAT fHF BT IIYRY e H Fga?

(A) O

(Correct Alternative)

(Correct Alternative)

(B) O




(€)O

(D) O
(Chosen Option)

(Chosen Option)

www.globaliti.org

Question No. 2 / Question ID 449
What is the square of 0.01?
0.01 &1 & T g2
(A) O 0.0001 (Correct Alternative)
0.0001 (Correct Alternative)
(B) O 0.001 (Chosen Option)
0.001 (Chosen Option)
(C) © 0.00001
0.00001

(D) O 0.000001
0.000001

Marks: 2.00

Question No. 3 / Question ID 459
Which is example for second order lever?
fadTa 3iTex TR HT HH-T1 IR0l 572
(A) O Bottle opener (Correct Alternative)

(Correct Alternative)
(B) O A pair of scissors (Chosen Option)
H[ Udh TR (Chosen Option)
(C) O Human forearm
GYA WR3MH
(D) © Common balance
CALEECK]

Marks: 2.00

Question No. 4 / Question ID 445
How many millimetres are there in 1 inch?
139 ¥ foha fcfidieR 8id 67
(A) O 24.5mm
24.5 mm

(B) O 2.54 mm
2.54 mm

(C) O 25.4 mm (Correct Alternative) (Chosen Option)
25.4 mm (Correct Alternative) (Chosen Option)

(D) O 2.45mm
2.45 mm

Marks: 2.00

Question No. 5/ Question ID 451

What is termed as the quantity of matter contained in a body?

g # fAfea uerd &Y AT Bl 1 e o 82

Marks: 2.00




(A) O Density (Chosen Option)

Y- (Chosen Option) www.globaliti.org
(B) O Mass (Correct Alternative)

SIHI (Correct Alternative)
(C) O Volume

SAd-

(D) O Specific gravity
fafy T

Question No. 6 / Question ID 457 Marks: 2.00
What is the perimeter of a rectangle whose length and breadth are 20 cm and 18 cm?

T 3ATTd DT URHTT 1 817, fSgh! <vailg Ud Thers 20 T.A. 7 18 A.HT. g2

(A) O 66 cm
66 cm

(B) © 56 cm (Chosen Option)
56 cm (Chosen Option)

(C)O 86cm
86 cm

(D) O 76 cm (Correct Alternative)
76 cm (Correct Alternative)

3) ENGINEERING DRAWING

Question No. 1 / Question ID 479 Marks: 2.00
Which dimension correctly marked in the circle as per standard?

e & IR Tebel H DI T M Te) &7 Rifga 22
(A) O




(€) O

(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

www.globaliti.org




www.globaliti.org

Question No. 2 / Question ID 474 Marks: 2.00
Identify the name of tool?
JUBH BT A1 TgarH?

(A) O Steelrule
LGRS

(B) O Feeler gauge
HIER el




(C) O Try square (Correct Alternative) (Chosen Option)
§¢3 @I T (Correct Alternative) (Chosen Option) www.globaliti.org

(D) O Surface gauge
SEERICECIRE]

Question No. 3/ Question ID 485 Marks: 2.00

Identify the correct aligned system dimension?
g1 WRRGd RReH S &t ugd™ 62
(A) O

(C)O

(Chosen Option)

(Chosen Option)




www.globaliti.org

(Correct Alternative)

(Correct Alternative)

Question No. 4 / Question ID 468 Marks: 2.00
Identify the conventional symbol of material?

I & URURS Udidh Bl Uga™?

(A) O Lead
oS

(B) O Glass (Chosen Option)
&g (Chosen Option)

(C) O Porcelain
ERIEEE)

(D) O Steel (Correct Alternative)

SHId (Correct Alternative)

Question No. 5/ Question ID 475 Marks: 2.00




Identify the name of tool?
JUHRT HT 19 UgdH?

(A) O Ball pein hammer (Correct Alternative) (Chosen Option)
CIGRY G| %'FI'\’ (Correct Alternative) (Chosen Option)

(B) O Cross pein hammer
1Y UF 3R

(C) O Straight pein hammer
SIS

(D) O Sledge hammer
Wl oI

www.globaliti.org

Question No. 6 / Question ID 464
Identify the name of instrument?

i © f@TE 77T IuSHRUN & 19 B UgaH He?

Marks: 2.00




www.globaliti.org

(A) O Setsquare

(B) O French curve
PaRINIGED

(C) O 'T'square
& WRR

(D) O Protractor (Correct Alternative) (Chosen Option)
TiGT (Correct Alternative) (Chosen Option)

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 609 Marks: 2.00
The way money is saved, spent and invested

o TRE J U1 I=T SiTdT ©, T fohdr Ol g 3R oW fear eiar g,
(A) O bgnking

(B) O income
3
(C) O financial literacy (Correct Alternative) (Chosen Option)
HT&RdT (Correct Alternative) (Chosen Option)

(D) O salary
da

Question No. 2 / Question ID 572 Marks: 2.00
Gesture “biting nails” shows




(A) O boredom
CIRSL
(B) O defensiveness
ISEIRERR]
(C) O insecurity (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(D) O confidence
STATIY

www.globaliti.org

Question No. 3 / Question ID 598
A good way to respond to the question ‘Shall we start the discussion?’ is

UY dhI 3T 33[@11?5 3T ARIBT ‘Shall we start the discussion?’ is )

(A) O Yes, let’s start. (Correct Alternative)
Yes, let’s start. (Correct Alternative)
(B) O But, don’t you think?
But, don’t you think?
(C) O To conclude
To conclude

(D) O To sum up (Chosen Option)
To sum up (Chosen Option)

Marks: 2.00

Question No. 4 / Question ID 629
In which orientation, the text is printed length wise?

forg affvuesH (sififawam) &, Sae (U16) wams aR fife (qfea) g1 82
(A) O Margin

(B) O Landscape
dewhy

(C) O Portrait (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

(D) O Width

Marks: 2.00

Question No. 5/ Question ID 508
Curriculum vitae is also known as )
Curriculum vitae &I %Wﬁﬂﬂﬁ'ﬁw%l

(A) O leave application
DI 3feif

(B) O resume (Correct Alternative)
(Correct Alternative)

(C) O circular
gRu

(D) O job application form (Chosen Option)
Tt & forg 3M1dea U= (Chosen Option)

Marks: 2.00

Question No. 6 / Question ID 701
NAPS Stands for
NAPS T Hddd

(A) O Non Apprenticeship Promotion Scheme
Non Apprenticeship Promotion Scheme

Marks: 2.00




(B) O National Appointment Promoting Scheme (Chosen Option)
National Appointment Promoting Scheme (Chosen Option)

(C) O National Advertising Promotion Scheme
National Advertising Promotion Scheme

(D) O National Apprenticeship Promotion Scheme (Correct Alternative)
National Apprenticeship Promotion Scheme (Correct Alternative)

www.globaliti.org

Question No. 7 / Question ID 502
After receiving interview call, what is the next step?
TETHR DId U B & TG, ST HeH HT 672
(A) O Prepare the resume

RRICEN
(B) O Send resume

sgm A9

(C) O Send application letter (Chosen Option)
3TdGH T3 U (Chosen Option)

(D) O Appear at interview (Correct Alternative)
TITPR | A 9 (Correct Alternative)

Marks: 2.00

Question No. 8 / Question ID 607
Same situation people should be treated in the same way
TS ot R arel ATt o 1Y Ueh ol a8 ot ST A |
(A) O society
HHS
(B) O status
eRmd
(C) O equality (Correct Alternative)
HHTAT (Correct Alternative)
(D) O unity (Chosen Option)
Uahdl (Chosen Option)

Marks: 2.00

Question No. 9 / Question ID 691
Which of the following should be avoided during probing?

S & SR iR § 9 feas so=m amfeu?
(A) O Repeating

(B) © Summarizing
IR
(C) O Listening carefully (Chosen Option)
&1 ¥ YT (Chosen Option)
(D) O Interrupting the customer (Correct Alternative)

YTEP B FIUT HIAT (Correct Alternative)

Marks: 2.00

Question No. 10 / Question ID 640
What is shortcut key for “Paste” command?
"URe" HHTS & foTT QTche BT (Goih) FT 82
(A) O Ctrl + X (Chosen Option)

Ctrl + X (Chosen Option)

(B) O Ctrl+A
Ctrl + A

Marks: 2.00




(C)O Ctrl+C

Ctrl+C www.globaliti.org
(D) O Ctrl +V (Correct Alternative)
Ctrl + V (Correct Alternative)

Question No. 11 / Question ID 487 Marks: 2.00
The ability to do is
...... B P GHATRI
(A) O Skill (Chosen Option)
(Chosen Option)
(B) O Experience
3JHd
(C) O Job (Correct Alternative)
PIH (Correct Alternative)
(D) O Knowledge
RIG|

Question No. 12 / Question ID 673 Marks: 2.00
MSME stands for
MSME ®T 3§ ..............
(A) O Macro, Small and Medium Enterprises
Macro, Small and Medium Enterprises
(B) O Micro, Small and Medium Enterprises (Correct Alternative) (Chosen Option)
Micro, Small and Medium Enterprises (Correct Alternative) (Chosen Option)
(C) O Micro, Scale and Medium Enterprises
Micro, Scale and Medium Enterprises

(D) O Minor, Small and Medium Enterprises
Minor, Small and Medium Enterprises

Question No. 13 / Question ID 664 Marks: 2.00
Which among the foIIowmg is not an Onllne payment application?

FEfed o 9 &F T SHiFars YITdH 31e Tai o2

(A) O Instagram (Correct Alternative)
SIS (Correct Alternative)
(B) O BHIM UPI
BHIM UPI

(C) O Banking Applications

(D) O Google Pay (Chosen Option)
NG| B (Chosen Option)

Question No. 14 / Question ID 491 Marks: 2.00
Values are
AHE ......... !
(A) O Motivates our attitude and action (Correct Alternative)
U E®I0T 3R Eh'li_d'l's: CARIEGE RG] % (Correct Alternative)
(B) O all have same value (Chosen Option)
qut &1 Hed JHIT % Chosen Option)
(C) O not punctual




(D) O very costly
ERSEJEGI

www.globaliti.org

Question No. 15/ Question ID 658
is the brain of the computer.

HHR BT AT 5|
(A) O Desktop
S
(B) O Window
fa=s]

(C) O Keyboard
Dlale

(D) O Central Processing unit (CPU) (Correct Alternative) (Chosen Option)
'\ﬁiﬁ AR qﬁ? (erdﬁ“qg (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 16 / Question ID 515
Fill in the blank with proper pronoun. “She made this cake

Rad @i o 3Ifd a9 & 1Y WX | “She made this cake

(A) O himself
himself

(B) O itself (Chosen Option)
itself (Chosen Option)
(C) O herself (Correct Alternative)
herself (Correct Alternative)
(D) O myself
myself

Marks: 2.00

Question No. 17 / Question ID 574
Goals are categorized as
&l b & 0§ aiffed fear mr g
(A) O inner and outer

TR 3R 3R
(B) O intrinsic and extrinsic (Chosen Option)
NIIGIRED Sﬁ?aﬁl (Chosen Option)
(C) O good and bad
3BT 3R I
(D) O short-term and long-term (Correct Alternative)

ABID 3R CEEAINED (Correct Alternative)

Marks: 2.00

Question No. 18 / Question ID 628
In MS Paint, which extension is not supported
Uy U H, I 7 Tae e qud (F9Y) T8t erdl?
(A) O .peg
Jpeg
(B) O .doc (Correct Alternative)
.doc (Correct Alternative)
(C) O .png (Chosen Option)
.png (Chosen Option)
(D) O .gif
.gif

Marks: 2.00




Question No. 19 / Question ID 551
Which of the following is an example of personal weakness?

G HHSIRT BT I8l Hyfarad H I Hi It 82
(A) O Active
gfhy

(B) O Confidence
S{TATIY
(C) O Being lazy (Correct Alternative) (Chosen Option)
@T-IT (Correct Alternative) (Chosen Option)
(D) O Hard working

oW gfo%alltl org

Question No. 20 / Question ID 677
The expansion of SIDO is
SIDOHTfaAR ...

(A) O Small Income Development Organization (Chosen Option)
Small Income Development Organization (Chosen Option)

(B) O Small Investment Development Organization
Small Investment Development Organization

(C) O Small Industries Development Organization (Correct Alternative)
Small Industries Development Organization (Correct Alternative)

(D) O Standard Industry Development Organization
Standard Industry Development Organization

Marks: 2.00

Question No. 21 / Question ID 516
Fill in the blank with proper reflexive pronoun. “She has hurt ?
fYad R § Ifrd ufdad 9aHm & 91 411 “She has hurt "
(A) O himself
himself
(B) O herself (Correct Alternative)
herself (Correct Alternative)
(C) O itself
itself
(D) O myself (Chosen Option)
myself (Chosen Option)

Marks: 2.00

Question No. 22 / Question ID 587
Which one is a good communication?
B U1 T 33T TAR 52
(A) O Message is ambiguous
TSR BT SRTY BT
(B) O Receiver doesn't listen to sender
Tl D DI gl A1
O Message is clear and direct (Correct Alternative) (Chosen Option)
BT ITE 3R TP g (Correct Alternative) (Chosen Option)
(D) O Sender attacks receiver

UN® BT NHaR TR g4l HAT

Marks: 2.00

Question No. 23 / Question ID 499

Marks: 2.00




Time management

(A) O
(B) O
(€)O

(D) O

hard skill

HicT P

complete your task on time (Correct Alternative)
3T BT AT W GRT B (Correct Alternative)

managing time (Chosen Option)
TS YHY (Chosen Option)
problem solving

O ] A

www.globaliti.org

Question No. 24 / Question ID 660

Which shortcut key is used to underline the main headings of your resume?

Marks: 2.00

3T YW & T X! ol Xdifohd A & o forg Widare Foit 1 IUAIT fohan ST g2

(A) O
(B) O
(C)O
(D) O

Ctrl+ B

Ctrl+ B

Ctrl + L (Chosen Option)

Ctrl + L (Chosen Option)

Ctrl + U (Correct Alternative)
Ctrl + U (Correct Alternative)

Ctrl + X
Ctrl + X

Question No. 25/ Question ID 543
Choose the odd word.

odd (fawH) Treg A |

(A) O
(B) O
(€)O
(D) O

thanks (Chosen Option)
thanks (Chosen Option)

sorry
sorry
paper (Correct Alternative)
paper (Correct Alternative)

please
please

Marks: 2.00




